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             الثانيو من أولى:  فرقوال                                                                            ا ــة بنوـــجامع

                                                                  

الرياضياث : شعبت                                                                                  كليــت التربيــو   

 

ىنذسو: الماده                                                                              تخلفاث              
=============================================================== 

     

 الأجابو النموزجيو :
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 َحصم عهٗ  3تقسًح انًعادنح انًعطاِ عهٗ    (3)  
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